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01 A& | 132,000 0 132,000
OHL23 22lAH Z4HE 24
132,000,0008 = 14l 132,000
SAFAIE 22| 14,500 14,500 0
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ol2g=+¢] 1,700
OgA& 50,000& = 22! = 10& 1,000
O=2gAAs+E 70,000 = 102! = 13 700
Ol=&Hl] 2,520
OFHAUEXZA OFZEZZ2OHR2HE ZEHI
7,000 = 321 = 10 ~ 123 2,520
Oolgxz] 650
OZ2HY2E XY= 650,0008 « 13l 650
02 =224l 66,738 48,074 18,664
o222 % HAll 57,600
o=323 3,300,000& * 128 39,600
O Al&2e|l & |Xbl 1,500,000& * 128 18,000
Ol zHl] 3,138
OHIERFIU(AUSR)
1,307.31& = 2,400¢ 3,138
O[XtgFs el ] 6,000
O X&gR=JH, =XH, A2ZH|
500,000& = 1CH = 123 6,000
03 &Ar2 I 3,000 3,000 0
OFAE2ERAS 29 250,000& = 123l 3,000
202 04l 4,320 4,320 0
01 = LH o4 1l 4,320 4,320 0
OFAHYRIS & T2 Y |
20,0003 = 20! * 5¢ » 63 1,200
OFAEE22Y JI2HZ22 P w0yl
20,0003 = 1@l * 5 = 123 1,200
OFAad==ga JIZNIZ2A E20H2F WS
A0 20,0003 = 3@ * 41t= « 82 1,920
405 Xt 3 S| 1,000 5,000 £4,000
01 AL EFH S 1,000 5,000 A 4,000
Oz9& Msdl 2¢ 500,000& = 2CH 1,000
KA AESE KA A (CYS-NET) 2 85,500 80,000 5,500
J| 42,750
s 42,750
101 @124l 54,644 52,560 2,084
J| 27,322
[ia 27,322
04 JIZHZ2XRHEES 54,644 52,560 2,084
Ooagd = 1,200,000& » 201 = 128 28,800
J| 14,400
s 14,400
oagd Jlgx4¢
1,200,000& * 1/2 * 2021 = 23| 2,400
J| 1,200




SN ALSI S X
B AW 25 2 84
el HAW R4
SA - ZE-B(EA) - NRAY - B S il &t o il
o 1,200
Oagd FAdsAH 110,000& * 201 » 12& 2,640
J| 1,320
2 1,320
Oug@ JIAXAY, ZEEY
1,200,000& = 221 » 4& 9,600
J| 4,800
2 4,800
Oagg A2el+g
7,800 * 10AI2t = 201 * 128 1,872
J| 936
s 936
ONEH EARES 44,376,000& * 1/12 3,698
J| 1,849
[ia 1,849
O MABEHRES 400,000& = 123 4,800
bl 2,400
s 2,400
O&g R HIE &I 41,6803 = 22! » 10 834
Il 417
e 417
201 L2l 28,216
J| 14,108
s 14,108
01 At 22l 9,216
O[get=&dl] 6,556
OCYS-NET E2& M= 2,000& = 1,0280H 2,056
J| 1,028
s 1,028
OJlE ME88 ¥ EH #¥
300,000& = 10& 3,000
J| 1,500
e 1,500
OFAZe E283F, 228 #¢
100,000& * 108 1,000
J| 500
e 500
OA&EH ®X % #=&dl 250,000&8 * 22 500
| 250
s 250
Ol3&l] 280
O CYS-NET & & Ot =&l
7,000& = 201 « 23] » 102 280
J| 140
e 140
ol2g=¢] 2,380
OCYS-NET I3 & =¥
70,000 = 172! = 23] 2,380
J| 1,190




AN ALEI =X

Hm: HAW 25 Y 84
el HAW sS4 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 1,190
03 &AL2 I 19,000 17,520 1,480
ORAJI¥A2E ZZ20H AR
1,350,000& = 103l 13,500
J| 6,750
[ia 6,750
OfIIIEax~EHE R NEX &4
750,000& * 23 1,500
| 750
[ia 750
OCYS-NET ==& & =29 200,000& = 53l 1,000
J| 500
[ia 500
O&dA24d Z0l:-Us 3,000,000& * 13l 3,000
J| 1,500
[ 1,500
202 oddl 2,640 2,640 0
J| 1,320
e 1,320
01 = LH o4 1l 2,640 2,640 0
OCYS-NET =208 XSl
20,000 = 4t= « 8& 640
J| 320
[ia 320
Oagg o4 U I HA0H
120,000&  16.663l 2,000
J| 1,000
[ia 1,000
AW Z2OHERH 85,531 85,392 139
101 @124 Hl 55,031 54,892 139
04 D122 2XREE S 55,031 54,892 139
OFLAERXNEMN ¢
1,630,000& = 201 = 12& 39,120
OFBLERXEAMN AZAZ LS
7,820 * 221 = 8 x 12& 1,502
OHAENGCA EL2R4Y
62,520& = 2Q1 * 33| » 123 4,502
OHELEXETA ERFEZ
53,000,000& = 1/12 4,417
OFELERXIT AL ADIE A HI
41,6803 = 22! » 10 834
OFAEXNT AL HEFOHI
400,000& = 221 = 13l 800
OHELEXET AN MIBEE J2RES
39,120,000& * 9.85471% 3,856
201 L2l 30,500 30,500 0
01 At 2t 2l 1,000 1,000 0




AN ALEI =X

Hm: HAW 25 Y 84
el HAW sS4 (el:de)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OFsuEs0le 26 2 22279
1,000,000& * 13l 1,000
03 Al HH| 29,500 29,500 0
OAZlnsETZz e 2AIS
500,000& * 191t S 9,500
OFA~ERF0NYE 2,000,000& * 53| 10,000
OFAESEHNE T2 2H
1,500,000& * 23| 3,000
OBAd MNPE2sOe 29
1,000,000& =* 53] 5,000
OZ¥T T2 )2 29 2,000,000& = 13 2,000
HAUE 239 E A= 806,000 1,250,000 A 444 000
Xl 560,000
= 246,000
401 AlEHIZL 2 0HY| 806,000 1,250,000 A 444 000
Xl 560,000
= 246,000
01 Al&H| 806,000 1,250,000 AN 444 000
Odtsg 44 2319 & HE
806,000,000& = 14 806,000
Xl 560,000
= 246,000
HAVAMGGHEH 29X 64,000 69,000 A5,000
== 19,200
= 44,800
101 Q124 H| 53,061 49,698 3,363
= 15,918
= 37,143
04 JI2ZtHIZ2 2 ANEES 53,061 49,698 3,363
oadgd 20 1,230,000& = 201 » 12€ 29,520
= 8,856
= 20,664
osga gy
1,230,0002 = 1/2 % 201 % 23] 2,460
= 738
= 1,722
ONMEJ dHZAH| 110,000 * 2021 * 12& 2,640
& 792
= 1,848
OaE& JIAHXIEH, HESIH|
1,230,000& = 201 x 3.5 8,610
& 2,583
= 6,027
Oatgrel A9 +g
7,800€ * 5A|2F = 201 « 10€ 780
& 234
= 546
oael gaRAzZ 44,010,000 = 1/12 3,668




SA: AEIEX D
MY HAUW 25 2 5
A

0x

S o

[==]
4
o9 Had

S

A

= (&

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

T.100
2,568
faa 400,0008 * 128 4,800
1,440
3,360
OASa I8 A 41,6802 * 20! * 6.99Y 583
175
408

Mo

O
0z
00
0
>
[
H
0

M

EURLY

201 fEt2E | 7,459 16,222 N8,763

2,238
5,221

H

]l 1,459 3,222 AN1,763
1,179

O

U Ml
M

>

40

mn —
O

He

HM

o

1

1)

117,900& = 10& 1,179
354
825
Ol=&Hl] 280

UL

F

00 » 22! = 23| * 10& 280
84
196

] 6,000 13,000 AT,000

M H

03 &AM

1,000,000 * 43| 4,000
1,200
2,800

EURLY

AEMNG (AL ZALAZEM) T2
& 000,000& * 23] 2,000

600
1,400

M

202 o4 Hl 2,480 2,480 0

744
1,736

M

01 SLHOYI 2,480 2,480 0
OdEd L2088 M
20,000& = 29I » 410t= + 8& 1,280

384
896

M H

ONZ® ei4 2 A3 FHOY

120,002 * 103l 1,200
360
840

M H

405 TtabFH SHI 1,000 600 400

300
700

UL

01 AL ESFH SH 1,000 600 400




SN ALSI S X
Hm: HAW 25 Y 84
Sl HAW 24 CERED
5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
ONT NEA(SHA S)
1,000,000& * 14l 1,000
< 300
e 700
Fad SEEXE 6,000 0 6,000
J| 4,200
< 900
i 900
307 i+l & 6,000 0 6,000
J| 4,200
< 900
e 900
11T MISXASEX 6,000 0 6,000
O&FAY SEIH 200,000& * 303l 6,000
J| 4,200
< 900
s 900
AW NYTRIY 2 551,400 169,000 382,400
J| 275,700
[ia 275,700
ZTHAESUANL T2 29 2,300 6,000 A3,700
J| 1,150
[ia 1,150
201 2yt 2 Y| 2,300 0 2,300
J| 1,150
[ia 1,150
03 &Ar2 I 2,300 0 2,300
OZBHAE4RAL T2 29
2,300,000& = 13 2,300
J| 1,150
s 1,150
dad &€= Ot2tol 0| 149,100 163,000 A 13,900
| 74,550
[ 74,550
101 1A dl 73,029 72,693 336
J| 36,514
e 36,515
04 JI12ZtHZ22HEE = 73,029 72,693 336
OFAEXNEA =S¢
1,580,000& * 321 = 12& 56,880
J| 28,440
[ia 28,440
OFLAUEXEZA EXNEZ
56,880,000& * 1/12 4,740
J| 2,370
s 2,370
OFAEXNEA ASIEERES
900,000& = 12& 10,800

_20_




AN ALEI =X

=R PNERCEJCTRE Y

el HiW NEEE Y 29 (sl &2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
J| 5,400
= 5,400
OFAGE X T A HILEAH|
41,6803 * 321 « 2.996L 375
J| 187
iy 188
OFAGX T A A2 G
7,800& * 321 x 2A|2F x 5 234
J| 117
iy 117
201 LBt Y| 46,467 60,023 AN 13,556
J| 23,234
= 23,233
01 At 22l ] 6,568 8,926 A 2,358
ogy=o2tdiol A2 2¢
56,800& = 103/ 568
J| 284
- 284
O U=0t3+00l 2l A XHEd]
600,000& = 103l 6,000
J| 3,000
iy 3,000
02 B232ZH| 1,800 1,800 0
Og=0I2t4l0l Xt&2HHl 200,0008 * 93] 1,800
J| 900
= 900
03 A2 EH| 38,099 49,297 A 11,198
OBtNS0I2t4I0l T2 0829 2AHH]
270,970 * 104= = 10& 27,097
J| 13,549
= 13,548
OBtNS0I2tHI0 E2dsed9 H|
358,100 » 203 7,162
J| 3,581
= 3,581
O =0t2t0I0l Ols MEEHS
256,000& * 153 3,840
J| 1,920
= 1,920
202 04 d| 500 500 0
J| 250
= 250
01 2L HI 500 500 0
ONEA o4 L 938 &4 ol
250,000 = 23] 500
J| 250
= 250
307 QI2t0| & 29,104 29,784 A 680
J| 14,552




AN ALEI =X

R RN DNERCE JETREY®
Sl AW NYZ2IY 29 (sl &2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 14,552
11T A EXAIEEX 29,104 0 29,104
Ot =0t3t00l Ots=24 XL
3,400 * 400! » 214 29,104
J| 14,552
iy 14,552
HAGNSAHAHAMEI A AIE AL 400,000 0 400,000
J| 200,000
= 200,000
101 21 214| 210,932 0 210,932
J| 105,466
= 105,466
04 JIZtHIZ22XNSE S 210,932 0 210,932
OFAEXNTZA 20
1,700,000 = 721 x 12& 142,800
J| 71,400
= 71,400
OFAEXN T AL BHZAH|
110,000 = 3021 12& 3,960
J| 1,980
= 1,980
OFAAXN A JFAXI A B, HEFOHY]
1,700,000 = 321 % 48 20,400
J| 10,200
iy 10,200
OFAGX T A A2 SE
7,800& * 321 x 12A12 = 108 2,808
J| 1,404
= 1,404
OFAGXECA E2"EZ
175,068,000& * 1/12 14,589
J| 7,295
iy 7,294
OFAEXNEZA AISIBEEREEZ2
1,700,000 ~ 12&€ 20,400
J| 10,200
iy 10,200
OFAE X EAF HIME AH|
41,680 = 321 « 6.996 875
J| 437
iy 438
OFALAERX A DL
1,700,000 * 1/2 = 321 % 23] 5,100
J| 2,550
= 2,550
201 Bt A H| 185,068 0 185,068
J| 92,534
iy 92,534
01 AR 2t2l ] 5,000 0 5,000

- 22 -




AN ALEI =X

=R PNERCEJCTRE Y

Sl AW NYZ2IY 29 (sl &2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OFAEINSAHHAMEIA EE= M &
2,000& * 1,3000H 2,600
J| 1,300
= 1,300
OJIE ARE8 ¥ EYH7¢
200,000& = 12& 2,400
J| 1,200
iy 1,200
03 A2 HH| 180,068 0 180,068
OZAH 22XNVZ20Y 29
3,000,000& = 103 30,000
J| 15,000
= 15,000
OHALUINNEXNE T2 29
3,500,000 = 153 52,500
J| 26,250
iy 26,250
OUSSIEXNA T2 29
3,128,400& = 203 62,568
J| 31,284
iy 31,284
OFAGEINEAHAMHIA JHAAAHSH
3,500,000 = 103 35,000
J| 17,500
iy 17,500
202 044 4,000 0 4,000
J| 2,000
= 2,000
01 2L Y| 4,000 0 4,000
OFAGEINEAHAHA T2 OHSH 0 H]|
20,000& = 5021 = 2. 243 = 5& 1,120
J| 560
iy 560
OFAEXNTA A & A28 FAH0H|
120,000& * 321 * 23| * 48 2,880
J| 1,440
iy 1,440
FAHES Ols B 3,813,718 3,550,606 263,112
= 1,087,856
= 829,973
= 1,895,889
ANEOSES 882,774 894,654 A 11,880
& 159,890
= 722,884
OIS MEAIE 222 3,900 5,040 A 1,140
202 04 d| 300 300 0
01 2L Y| 300 300 0

_23_




SN ALSI S X
HE: HUNE OIS B35
&S AESES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OO0ts=XAIE XNEEH 0l
20,000& = 15« 300
301 et a = 3,600 3,600 0
01 MEIBZE 05z 3,600 3,600 0
OO0lsLEALE HEAR 3,600,000& * 14 3,600
AN&Ets s 3 X 5,000 3,000 2,000
< 2,500
s 2,500
307 21201 A 5,000 3,000 2,000
< 2,500
i 2,500
11T MISXASEEX 5,000 0 5,000
OAIE0ts tHet&lst it = 1,000,000& =* 5¢Q! 5,000
= 2,500
s 2,500
ANEOS HEE= 12,600 13,080 A 480
< 6,300
s 6,300
307 gl2tol & 12,600 13,080 A 480
< 6,300
s 6,300
11T M SXAISE EX 12,600 0 12,600
OANHOls 4&88= 25,0008 * 420 » 123 12,600
< 6,300
[ia 6,300
ANE0ts 425 72¢ 10,800 13,200 A2,400
< 5,400
e 5,400
307 glz2+ol & 10,800 13,200 A 2,400
= 5,400
e 5,400
11T MIEXASEX 10,800 0 10,800
OAlE0ls 423 2
20,000& = 4521 = 123 10,800
< 5,400
i 5,400
OSEXAIE AR S 22,800 22,800 0
< 15,960
s 6,840
307 glz2tol & 22,800 22,800 0
< 15,960
fia 6,840
11T MIEXAISEX 22,800 0 22,800
OO0tsEXAIE BAX S8
86,363.6363&F * 222! x 123 22,800

_24_




SH:AEI=X
Zaf: 3ot

=
& AlZ0tS

fol

ni;
s =2
2

=l

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Mo

15,960
6,840

OrsS=XAE 2

02

gl

A&

UL

811,734
121,760
689,974

811,734

307 21201 A

M

811,734

121,760
689,974

811,734

10 AFRIS XA E Y
A

OOtS=XAIE

F2IHEx

29l X3

67,644,500& 128

M H

811,734

811,734

121,760
689,974

811,734

tm
b
=]
Oin
>
!
04
i
ol

pal
o

UL

12,000

6,000
6,000

10,500

1,500

307 21201 &

M

12,000

6,000
6,000

10,500

1,500

M ARISXAEE

O&ao0ts HEEHEAES X

EN

0

3,000,000& = 40l

VR

12,000

12,000

6,000
6,000

12,000

EUNE

1,000

500
500

2,200

A 1,200

307 21201 &

EUNL

1,000

500
500

2,200

A1,200

M ARISXAISE L

OAN&0tS #=st0 &l

ES

100,000& * 10¢!

EUNY

1,000

1,000

500
500

1,000

AE0ls WEFH

EURLY

2,940

1,470
1,470

2,600

340

307 21201 A

M H

2,940

1,470
1,470

2,600

340

M AZSIASEE

OAEZ0ts W=7l

OAlE0ots H0AM PH|

200,000& = 7¢!

45,2043 = 349l

Mo

M H

2,940

1,400

700
700

1,540

770
770

2,940

_25_




At = X ot
FHANS Ot B3
HArsots=X
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
HAs0ts=R 2,930,944 2,655,952
= 1,087,856
< 670,083
s 1,173,005
A2EAH EINZOSKA 14,430 14,430
301 gtE 4= 1,430 ,430
01 MI2EZE 46z 1,100 , 100
OAEAHIE & RAES F2HAX R
100,000& * 11AICH 1,100
09 HALAHIE& S 330 330
OJNERE0S =8d F424
110,000& * 3¢ 330
307 gl2tol & 13,000 13,000 0
11T M SXALSE EX 13,000 0 13,000
OLEAUEHIE AL BH S AL
3,000,000 * 13l 3,000
Oggdogold 2&Xl 10,000,000& * 13l 10,000
SESOHSZE A 44,865 45,940 A1,075
= 31,405
< 6,730
e 6,730
301 L2 A F 44,865 45,940 A 1,075
= 31,405
< 6,730
e 6,730
01 MEIBEE 2063 44,865 45,940 A 1,075
OOtsZLE X3 AHZ XA
19,271.907216& * 19421 = 12& 44,865
= 31,405
< 6,730
[ 6,730
A2EAEIE 2 EOISAHH 22 X 10,800 8,640 2,160
< 5,400
e 5,400
301 L2 A Z 10,800 8,640 2,160
< 5,400
s 5,400
01 MEIBZE 2063 10,800 8,640 2,160
OAEAHIIE & AS0S MUAZ=S
20,000 = 4521 = 123 10,800
< 5,400
i 5,400
A2EAEINE Y AEOSH 2 M=t 4,200 4,200 0
< 2,100
s 2,100

_26_




2N
X ZH -
L= B

el

2 >
B 10 for
Jn X it

o oy =
o &
o
T
o

J
>
[
£
o
H

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

301 gEtE A= 4,200 4,200 0
2,100
2,100

EURLY

01 Al 2&8H =063 4,200 4,200 0
OAHAUHIIE X ASOISAHU SE Nt

50,000& = 42KICH * 2% 4,200

2,100

2,100

M

2EAHIIE R FAE0S S =s XN 5,000 5,000 0
2,500
2,500

M

301 fEtE A= 5,000 5,000 0

2,500
2,500

M

01 MEIBEZE 05z 5,000 5,000 0

x

,000,000& = 5¢! 5,000
2,500
2,500

M H

EAHLFXE 86,400 86,400 0
8,640
77,760

UL

301 €EtE 4= 86,400 86,400 0

8,640
77,760

EUNL

01 A28 H =62 86,400 86,400 0
S

120,000& * 602! » 123 86,400

8,640
77,760

UL

IIEAE0S doHEEE N 4,004 2,989 1,105
2,866
614
614

MR

301 €EtE A= 4,094 2,989 1,105
2,866
614
614

MR

01 A28 H =0dl= 4,094 2,989 1,105
OJMNERE0S dal28 X &
64,984 .12698% = 632! 4,094

2,866
614
614

M H

o
02
=]
Oin
02
5o
1
o
al
FY

45,000 41,330 3,670

31,500
6,750

o

_27_




A3 = K| 2t
FHoNE OlE 25
HAsots=X (e &)
- - _ =]
CEH O (BH) - MEAY - B2 %Eﬁ HDS2
= 6,750
etg A2 45,000 41,330 3,670
2 31,500
& 6,750
= 6,750
01 AL B & X %352 45,000 41,330 3,670
OYAOts L=< 150,000& * 2501 = 12& 45,000
= 31,500
T 6,750
= 6,750
E 354 ots24d K& 232,068 246,400 AN 14,332
< 225,568
= 6,500
206 i 2 b 6,500 0 6,500
01 X bl 6,500 0 6,500
O0tsZ24 BHEHHYE SAIE Jrg2 g
10,000& = 6509! 6,500
307 QI2t0| ™ 225,568 246,400 N 20,832
225,568
11 AMISAAMEEXR 225,568 0 225,568
O8Jls E. 835 Ots 244l
3,500& * 60821 x 106 225,568
< 225,568
gsts Otsa34 XN 214,463 214,463 0
= 53,616
= 160,847
307 QI2t0| M 214,463 214,463 0
& 53,616
= 160,847
11 A SEXNAEE X 214,463 0 214,463
OYsE ots24 X8
3,500& = 64501 » 95 214,463
= 53,616
= 160,847
NEotsHE Ul AM A& 358,720 400,820 A42,100
& 83,012
= 275,708
307 QI2t0| ™ 358,720 400,820 A42,100
& 83,012
= 275,708
11 AIZIEXAIEEX 358,720 0 358,720
OXNYotsdEH SAHI
3,500 * 34201 x 2802 335,160
= 67,032
= 268,128
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SN ALSI S X
M HAHES Ot BS
thel: HASOotsS =X (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXNY0tsdE SAA S
50,000& = 352! x 12& 21,000
< 14,700
e 6,300
OXgG0ts4H 0I80ts S22l AlAE 2l
=]l 640,000 » 4012 2,560
< 1,280
[ia 1,280
NEotsdE 43t X2 5,000 11,000 A 6,000
307 glz2+ol & 5,000 5,000 0
11 AISI S XA E = 5,000 0 5,000
OXZotsdH stttz X
5,000,000& * 13l 5,000
NGotsdE 2 X 957,170 959,760 A 2,590
= 478,585
S 191,435
i 287,150
307 glz2tol & 957,170 959,760 A 2,590
= 478,585
< 191,435
s 287,150
10 M ZXNANEHI2IHE=X 957,170 959,760 A 2,590
OXYots4dEH Jle2gl
4,380,000& = 1702 = 123 893,520
= 446,760
= 178,705
i 268,055
ONHE S=SHE XY0tsHdH 294l
868,055.5555& * 3 A * 12& 31,250
= 15,625
< 6,250
e 9,375
OXgotsHdH EQZ I
450,000& » 6oL » 128 32,400
= 16,200
< 6,480
e 9,720
OtsS =X WA THAX& 225,240 209,520 15,720
= 107,520
< 43,008
s 74,712
101 144 dl 225,240 209,520 15,720
= 107,520
< 43,008
s 74,712
04 JIZHHZ2XREES 225,240 209,520 15,720
OXSotsHdH Ots=X AL SESE
50,000& = 172! = 123 10,200




A AMIEX
B FKE O 25
S MASOsSSEKX (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OOlE =X WAl o 28]
815,925.9259% * 18021 x 12& 176,240
= 88,120
& 35,248
2 52,872
OOS=XRA MEZEE L SIXXYS
175,000& = 1821 * 12& 37,800
= 18,900
& 7,560
iy 11,340
OXEAB 22X A 20|
20,000& = 5 = 10& 1,000
= 500
& 200
= 300
i - JIAEOS Alexzs A& 1,400 1,400 0]
= 980
T 210
= 210
301 et A= 1,400 1,400 0
= 980
[ 210
= 210
01 M EXEE G2 1,400 1,400 0
oY - I3 Eots delxz X4
200,000& = 121 = 7& 1,400
= 980
& 210
- 210
CEAEIE HdH 29 401,894 401,966 NT2
= 300,000
= 101,894
101 2121 d| 211,148 172,814 38,334
= 121,254
= 89,894
04 JI2ZtHI22XNSE S 211,148 172,814 38,334
OArZZ2l ®20let o2y
1,707,000& = 721 x 6& 71,694
= 71,694
OAtdl &2l 8201 olAHHl FIXE
1,707,000& = 721 x 6& 71,694
OAdl &2l 8208 AMgEB2eE s FIKA
300,000& * 79I  6& 12,600
OAtdl &2l 8208 HAESIHH|
400,000& * 721 % 23| 5,600
OAtdl 22l 8203 ANFEE=
300,000& * 79I * 6& 12,600
= 12,600
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M AR =X
B FKE O 25
thel: HASOotsS =X (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OAdl2el 820 exxe3
140,000& * 401 » 128 6,720
= 6,720
OAtdl2tel 821 ol
20,0003 = 72 = 8 « 123 13,440
= 13,440
OAtdl 2l 82018 nsTA FY|
120,000& = 721 = 33| 2,520
= 2,520
OAtdl2tel 8201 A2t =%
8,500 * 20AI2t » 721 * 12& 14,280
= 14,280
201 L2l 67,946 93,020 AN25,074
= 67,946
01 At 22l 25,390 24,920 470
Oget=EZH| 22,240
OEHAEE S3ME 2 28
700,000& = 12& 8,400
= 8,400
OEZAEEHNH 2ZHl  650,000& » 123 7,800
= 7,800
OECEHAEHEAMNY ARUE W=H
290,000& = 10¢! 2,900
= 2,900
OLEEAEBHEMY HEFL SEH|
7,000 = 321 = 10 ~ 123 2,520
= 2,520
OSEHEEANAE ctoldA e
620,000& 14! 620
= 620
O [2E€=¢] 3,150
OEZAEEHNH 28923 & #+HUIOIN
oo =g 70,0003 = 1591 = 33| 3,150
= 3,150
02 8323l 9,900 13,500 A 3,600
Ool2222 ¥ MAI 4,200
OCEHAEENH 322 2 HMAMIUS
350,000& = 12& 4,200
= 4,200
Ofxte &t et ] 5,700
OCSEAEEHH XNHSERFH
400,000& = 12& 4,800
= 4,800
OSEAEEHH Xt Hl
150,000& * 63l 900
=2 900
03 A2 S HI 32,656 54,600 A 21,944




M AR =X
M HAHES Ot BS
22 MASOos=X (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OJI=2E S Z218 29
5,000,000& = 63l 30,000
= 30,000
OZ2d 0/20ts 2tAaldl
2,124 .83 = 2501 » 102 » 5@ 2,656
= 2,656
202 o4dl 10,800 9,360 1,440
= 10,800
01 = LH o4 1l 10,800 9,360 1,440
OEEHARE s & 22=Z ¢yl
120,000& = 321 = 63l 2,160
= 2,160
OSEHAEHEAY 20U
20,000& = 3¢ * 12 « 123 8,640
= 8,640
206 M= Hl 6,800 9,600 A 2,800
= 6,800
01 =8l 6,800 9,600 A 2,800
OEHAHRE Z2 )& N3 2¢
4,800,000& * 14 4,800
= 4,800
OEEAHRE Z20d¢ M=l
10,000& = 409! = 53| 2,000
= 2,000
301 L2 A= 500 6,300 25,800
= 500
09 HALAHIE& S 500 6,300 5,800
OXNJASALA &3 Aldl 20,0008 * 591 » 53 500
=2 500
307 21201 A 102,200 105,872 A3,672
= 90,200
[ia 12,000
01 2L =4l 52,200 53,250 A 1,050
OMAS AR o OtsAHZAIHHI
60,000 = 335Q! * 23] 40,200
= 40,200
OMAS a2 & OtsHZAISH FOHA&
60,000& * 10021 = 23| 12,000
1A S XA E X 50,000 0 50,000
Odlzsts ¥ SII84 WsHIXEH
50,000 = 140! * 6& 42,000
= 42,000
OAtg sl T2 7 2Zd|
4,000,000& = 23l 8,000
= 8,000
405 XHoHE S HI 2,500 5,000 A 2,500
= 2,500
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A AMIEX
HE: HUNE OIS B35
C: HASOEEX (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 XA 2B F S| 2,500 5,000 A2,500
OEEAEEHNEH &I Y HS 7
2,500,000& = 14l 2,500
= 2,500
el et AIEE T = 270,000 0 270,000
= 135,000
& 40,500
= 94,500
401 AlEHIZL £ 0HY| 270,000 0 270,000
= 135,000
& 40,500
= 94,500
01 Al&EH| 270,000 0 270,000
OolglolotE H Aol Z 2t 2 = (CCTV)
27,000,0000& * 1000 A& 270,000
= 135,000
& 40,500
= 94,500
olssguy & B2sX&d 30,200 600 29,600
201 LBt | 7,200 600 6,600
02 22244l 1,200 600 600
O0E0IESECCTVE I RZYLIIMHAIE2
100,000& * 12& 1,200
03 A2 E H| 6,000 0 6,000
OMBIEXAIE SAMT L E2 W
3,000,000& * 23| 6,000
308 XHXIEHSOIA 23,000 0 23,000
07 NIXSHHZ2ESSZ2 23,000 0 23,000
Osttiolts 250 HE Al 22
23,000,000 * 13 23,000
ANEOotSHEH JsEY 20,000 0 20,000
307 2Iz2t0| & 20,000 0 20,000
11T A EXAIEEX 20,000 0 20,000
OX<E0otsHdH SHMSE A
10,000,000 * 200 A& 20,000
8= I8 XN 16,368,400 15,623,472 744,928
= 7,398,150
o 6,152,170
= 2,818,080
oHelold 249 16,368,400 15,623,472 744,928
= 7,398,150
=} 6,152,170
= 2,818,080
BRsE8 NHHlA 4,634,035 4,359,814 274,221
= 2,317,017
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2N
X ZH -
L= B

el

Akl = X1 ot
25 -0t XN
ooy 24

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,158,509
s 1,158,509
307 glz2+ol & 4,634,035 4,359,814 274,221
= 2,317,017
< 1,158,509
i 1,158,509
10 AL SXAIEEE2EHEX 4,634,035 4,359,814 274,221
OESsSsS MUlA XI&
1,557,135.4& * 248021 * 128 4,634,035
= 2,317,017
< 1,158,509
s 1,158,509
oo 2d2el 133,980 35,980 98,000
201 L2l 500 500 0
01 At 22l 500 500 0
Oflget=&Hl] 500
OESAM 222 WA
500& = 5008 * 28 500
202 44l 1,200 1,200 0
01 = LH A HI 1,200 1,200 0
OEsg:e s 40l
100,000& = 201 = 23| 400
OX=ERCUz &40
100,000 * 22! = 23] 400
OESAE N=&EZ WY
20,000 = 221 = 10 400
301 et a3z 1,300 1,300 0
09 HALAHIEA S 1,300 1,300 0
OEBSANLEF AEts &4 24
20,000& * 65¢! 1,300
307 21201 A 130,980 32,980 98,000
11T M3 SXAISEEX 130,980 0 130,980
Oogoldetd S I
499,000 = 40002 = 50% 9,980
O0eold EFSWA HE3
5,000,000& =+ 13l 5,000
Ol 3 IHL A
5,000,000& = 404 A 20,000
OUROIE 2SDHA HRHH
50,000& = 1602 = 1204 & 96,000
Has Ots 282 N2 5,250,981 5,887,702 A 636,721
= 3,413,137
=) 918,922
e 918,922
307 glz2+ol & 5,250,981 5,887,702 A 636,721
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Sl ORI0IE 2Y CER-ED
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=
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Mo A

1A SXAIE E = 5,250,981 0 5,250,981
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M H
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EURLY
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Ogot - ZOHot dE00lE ey
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w

,400

,700
,700

M

OBIISSH 0ol SAXN SE€=E
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|
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2N
X ZH -
L= B

el

Akl = X1 ot
25 -0t XE
ooy 24

SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
ANE0I0IE0Is =+ 2,206,981 2,467,210 A 260,229
- 1,434,537
== 386,222
= 386,222
301 LBt A= 2,206,981 2,467,210 A 260,229
- 1,434,537
& 386,222
= 386,222
01 MBI EEE G2 2,206,981 2,467,210 N 260,229
O0&eold oloIg0ots 3+
165,689.26& * 1,1102) = 128 2,206,981
= 1,434,537
& 386,222
= 386,222
ooy XI& 433,420 332,738 100,682
= 216,709
= 108,356
= 108,355
301 PP B A 2,584 2,240 344
= 1,292
[ 646
= 646
11 JIEtE A= 2,584 2,240 344
E22LHIYES 2H  161,500& * 491 % 43| 2,584
= 1,292
& 646
= 646
307 212t0| & 430,836 330,498 100, 338
= 215,417
o= 107,710
= 107,709
11 A EXAIEEX 430,836 0 430,836
O] 956,578 * 19JH & 18,175
= 9,087
< 4,544
= 4,544
OXg 29| 2,314,285€ * 2100 & 48,600
= 24,300
o= 12,150
= 12,150
OWA 228 &b
152,768 = 17621 = 128 322,647
= 161,323
& 80,662
= 80,662
OsHEAM EoEold X&
230,077 *= 150HA + 128 41,414
= 20,707
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A AMIEX
Ha: 2% 0% X
el Ol2i0lE 29 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
[ 10,354
- 10,353
Sl X3 3,454,869 2,368,170 1,086,699
& 3,454,869
307 2iz2to| & 3,454,869 2,368,170 1,086,699
& 3,454,869
11T A EXAIEEX 3,454,869 0 3,454,869
OFclME X 289,035.298 + 99301 » 12& 3,454,869
o= 3,454,869
el ol JIEs0tE H=sUsl 18,000 0 18,000
307 QI2t0| ™ 18,000 0 18,000
11T A EXAIEEX 18,000 0 18,000
ooy Jr=store M3
18,000,000& * 13| 18,000
22X =& 1,120,919 1,063,288 57,631
= 267,800
J| 297,734
& 208,517
o 346,868
A= K& 403,470 397,695 5,775
= 221,390
& 51,440
= 130,640
HESHME St NGENME HEaEX 8,000 3,000 5,000
& 4,000
= 4,000
307 gizto| A 8,000 3,000 5,000
& 4,000
= 4,000
02 QIZFA AAIE E X 8,000 3,000 5,000
OHHME S8t sSENsE ozsd
8,000,000& * 1JH A 8,000
& 4,000
= 4,000
[P PSEL NI 77,200 76,200 1,000
201 LBt ]| 52,520 52,520 0
01 AP 22| H| 770 770 0
OfdetE==4] 770
OENE =& 10,000& » 12& 120
OA - B - JI=EXH JIEEE
200 = 1,0000H 200
OEEZ HAL EEROZ M
1,000 * Q00H » 53| 450
03 A2 G H| 51,750 51,750 0
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SN ALSI S X
M Hd=X 58
SERNCPEE- R IpNE (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OdgEIdSEII=2HNUSE 875,000& = 23| 1,750
O4d=ss3 g4sid 2208 29
50,000,000& * 14 50,000
202 odl 1,680 680 1,000
01 = LH YI 1,680 680 1,000
OCiEIMaLs YL &40
120,000& = 201 » 23| 480
OWd el Eds &0t
20,0003 = 2@! = 303l 1,200
301 L2 Az 3,000 3,000 0
09 HALAHIEA S 3,000 3,000 0
OWAXEX 2y gals M (xR
100,000& = 109! 1,000
OWMXNEX RE(E,58Y)
100,000& = 521 x 43| 2,000
307 21201 A 20,000 20,000 0
11T MISAASEX 20,000 0 20,000
OW&ate stite ALK A
15,000,000 * 13l 15,000
OWdctd X=X F2& 5,000,0008 * 13 5,000
GEHH 43 N 2,000 2,000 0
301 L2 A3 2,000 2,000 0
09 &ALAHI B & Z 2,000 2,000 0
O0&H o&dUs &M (=x=2)
20,0003 = 5091 = 23| 2,000
otolE=L20l XA 316,270 316,495 A225
= 221,390
= 47,440
2 47,440
307 21201 A 316,270 316,495 A 225
= 221,390
< 47,440
[ia 47,440
10 M2 SXNANEHE2IHEX 44,085 316,495 A 272,410
OOotoI=20l XNJAAY 23l
44,085,000& * 1002 44,085
= 30,860
< 6,612
[ia 6,613
11T ALSI S XAEE = 272,185 0 272,185
OOt0IE 20l XI& ALY At HI
272,185,000& * 10024 272,185
= 190,530
< 40,828
[ia 40,827
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SN ALSI S X
g Hd=x 58
Sl HAS SE2IE XA (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HNAS st220tE X3 ALY 258,063 201,960 56,103
= 2,031
J| 78,480
< 81,066
e 96,486
StREEIIE JH2=E - n=sH X 98,100 68,780 29,320
J| 78,480
< 9,810
s 9,810
301 LEtE A= 98,100 68,780 29,320
J| 78,480
< 9,810
s 9,810
01 MEI2BZE 06z 98,100 68,780 29,320
OMAS B22IE JHHL=H S
101,923& 7821 » 12& 95,400
J| 76,320
< 9,540
i 9,540
OMASEHERI=E S8 g
50,000& = 54¢l 2,700
J| 2,160
< 270
e 270
MAS RE2IHE MEotd X& 15,420 15,400 20
202 O4dl 320 300 20
01 = LH 4 1 320 300 20
OStR2ItE dALEA 04l
20,0003 = 491 = 43| 320
301 gt 4= 10,500 10,500 0
01 MI2ZE+06l= 10,500 10,500 0
OMAS 225 4223 &
500,000& = 11AICH 5,500
OMAS 822ItE A2 50,0008 = 100Al CH 5,000
307 glz2+ol & 4,600 4,600 0
11T MISAASEX 4,600 0 4,600
OMASERR2IIE =33l 4,600,000& * 13 4,600
HASS2L2HE K& 142,004 117,780 24,224
< 71,002
s 71,002
301 L2 A3 142,004 117,780 24,224
< 71,002
s 71,002
01 Ml28E 6= 142,004 117,780 24,224
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2MH: M=
M A=
- =]

=z
Gl MAS 220N XHAY (9 &9)

SA-3H-S(3AH) - MRAS - BES Off &t 24

&
=

M
2Hm
==
£l
Ol
0y

OMASEREIE MRS

57,368.62% = 170¢! » 12& 117,032
58,516
58,516

M H

OMASER2IHE THH L=

58,963.63& * 55¢1 * 43| 12,972
6,486
6,486

Mo

otgls =, M3

1,000,000& = 12¢! 12,000
6,000
6,000

Mo

ox
s
i
ro

2 TEXE ALY 2,539 0 2,539
2,031
254
254

Mo

301 2EtE A= 2,539 0 2,539
2,031
254
254

Mo H

=l

=] 2,539 0 2,539
E=PAE]
105,791.66& * 20! = 123 2,539
2,031
254
254

01 At B & &
suss

O

m
o
0

Mo A

Ct23ots K& 372,016 376,844 N4,828
219,254
56,916
95,846

S

M H

Ct2stots XNEdH 28 X2 121,771 149,700 A27,929
85,239
18,266
18,266

S

M

307 21201 A 121,771 149,700 A27,929
85,239
18,266
18,266

S

M

10 AMSIAEHE2SH
OU=aNEXNFEH 2
121,771,0008 * 100 & 121,771

85,239
18,266
18,266

H
A

121,771 149,700 N27,929

S

EURLY

Ct2ets K& 38,930 14,930 24,000

201

e
iz
Mo
0
=

26,250 0 26,250

03

02
>
o
02
=5

26,250 0 26,250
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2N

Akl = X1 ot

M Hd=X 58
el OE3ots K& (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ot=zsitd 232 ¢
24,000,000 * 13l 24,000
OUZd #4220 LU=
150,000& = 521 = 37| 2,250
202 oddl 680 680 0
01 = LH o4 1l 680 680 0
OUZs =X dE HOMOHEl X0 bl
120,000& * 40l 480
OUI&ItE dHALEA oIE Nl
20,000& = 201 = 53| 200
206 M= Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
Ottsitd s483 X
200,000& * 50AICH 10,000
301 g2 4= 2,000 2,000 0
09 HALAHIEA S 2,000 2,000 0
OU=RaINE 2R3SH uszd4s
100,000& = 102! 1,000
OU&sltd Jr=stote BB M(E =
2) 20,0003 * 2501 x 23| 1,000
Ch2stts Y2 UsAY 107,300 128,760 A 21,460
J| 75,110
< 16,095
s 16,095
307 glz2tol & 107,300 128,760 A 21,460
J| 75,110
< 16,095
s 16,095
11T ALSI S XAEE = 107,300 0 107,300
OUZIaIE L2 uFAY
107,300,000& * 1JH A 107,300
| 75,110
< 16,095
s 16,095
CG=EZsits IHUAIER2= X 19,866 19,866 0
< 9,933
s 9,933
301 L2 A= 19,866 19,866 0
< 9,933
[ia 9,933
01 A3l EE H =56l = 19,866 19,866 0
OUEI&ItE Y AMERZSXA
180,600& * 110¢! 19,866
< 9,933
s 9,933
ZE0I8A & - HBAANHA X 16,181 17,890 21,709




AN ALEI =X
3 dd=x 58

el G230t N2

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
J| 11,327
= 2,427
= 2,427
307 QI2t0| & 16,181 17,890 A 1,709
J| 11,327
& 2,427
= 2,427
10 A SXNANEEHESIGHEX 2,000 17,890 A 15,890
OZE0|2A S8HHE 29Hl NS
2,000,000& * 1A 2,000
J| 1,400
= 300
= 300
11T A EXAIEEX 14,181 0 14,181
OZE0|2A SHAAMEIA X
14,181,000& * 1002 14,181
J| 9,927
o= 2,127
= 2,127
ChE3JtEs Xt o &g X 29,456 45,698 N 16,242
J| 20,619
& 4,419
o 4,418
307 QI2t0| ™ 29,456 45,698 N 16,242
J| 20,619
= 4,419
= 4,418
11T A EXAIEEX 29,456 0 29,456
OUesiit= Y dge X
29,456,000 * 1004 29,456
J| 20,619
& 4,419
= 4,418
Cheshits s=20us 29 22,262 0 22,262
J| 15,584
= 3,339
o 3,339
307 QI2t0| ™ 22,262 0 22,262
J| 15,584
& 3,339
= 3,339
11T A EXAIEEX 22,262 0 22,262
OUESSIE st=20ns 29
22,262,000& * 1002 22,262
J| 15,584
=} 3,339
= 3,339
Ol JIEEtE ZEAMY 16,250 0 16,250
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SN ALSI S X
g Hd=x 58
S HERAUSH EERED
= _ — d =
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